Trigonometry (Last Packet)

Day Date Video Assignment Due Is it done?
Monday 5/18/2020 [NO CLASS

Tuesday 5/19/2020 [9.2

Wednesday |5/20/2020 (9.3 276:1-8

Thursday 5/21/2020 |9.4 280: 1-8

Friday 5/22/2020 285:;7-12

Monday 5/25/2020 [NO SCHOOL

Tuesday 5/26/2020 |PT practice test

Wednesday [5/27/2020 take test on chapter 9 - will send by email that day
Thursday 5/28/2020 |Matrix - Solve

Friday 5/29/2020 |Determinants  |xeroxed copy of page 186: 1-10

Monday 6/1/2020 |NO CLASS

Tuesday 6/2/2020 [add, sub, mult |xeroxed copy of pages 191-192: 1-8, 15-20, 27-32
Wednesday [6/3/2020 |con, dep matrix sheet 3

Thursday 6/4/2020 matrix sheet 7

Friday 6/5/2020 [nothing - there would have been no math this day

How many total did you do:

Zoom session happen Tues/Thurs at 12:00 for those needing any help

NOTE: Chapter 9 material was already posted online a long time ago...we just never got to it until now
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1. 52 —~ 2y = —44 2. x—2y+32=4
2x + Sy = -6 2x - y+ z=-1
4+ y+ z=1
o]
Exercises
Solve, using matrices.
(l‘f‘-?.yj 1l.4x + 2y = 11 2.3x -3y = -¢ ("3)
! Ix-y=2 9% -2y =3
t
N 3 Sx+2=3 @3:”33;—2-—0 (l.‘;)
C?."g x + 2y ~5=0 2y = =1 + 5x
S.3x+y=7 6. 2x + y=0 -,
(‘34'1) xt+ty=1 x — Sy = —11 ( r )
© Tox+2y—-3z2=9 ‘x—~y+22—0
) 2x —y+ 2= -8 x—2y+3z— -1 (0;’2,‘3
9.4x ~y -3z =1 1003x + 2y + 2z = 3 ~
g,wl‘ﬂ 8x+y—-2z2=35 xX+2y—2z=35 (21-“:'?‘)
(lrf 2x+y+2=5 26 -4y +2=0 o
Extension
Solve, using matrices.
11. 03x + 0.2y = -0.9 12. 0.2x — 0.3y = 0.3

Note in the preceding that our goal was to get the matrix in the
form where there are just 0’s below the main diagonal, formed
by 4, e,and h. Then we put the variables back and complete the

solution.

b ¢
B
0 b &k

TRY THIS Solve, using matrices. .

oo h

0.2x - 0.3y = ~0.6

13. 2w - 2x — 2y + 27 = 10
w+x+y+z=-5
3w+ x-—y+4z= -2
w+3x - 2y+ 2= -6

®

0.4x + 0.6y = —0.2

w—2x+3y-2z=38§
w-—x-y+z=4
w+2x+y+z=22
w-—x+y+z=14

186 CHAPTER 4 SYSTEMS OF EQUATIONS AND INEQUALITIES
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1 -3 7 13 -3 7
D =11 1 il = —-10 D=1 1 1| = 20
1 -2 3 4 -2 3
1 13 7 1 -3 13
D=1 11 =-6 D, =11 1 1| = —24
1 4 3 1 -2 4
_D,_20 _ _, . .Db_-6_3 _D_-2¢4_ 12
x=F=T1-"2Y=D T 9%~ D -10 3
The solution is (-2, %, %). In practice, it is not necessary to evaluate

D,. When we have found values for x and y we can substitute them
into one of the equations and find z.

TRY THIS Solve, using Cramer’s Rule.
9.x—-3y—7z2=6
2x+3y+2=29

4 +y=7
4-7
Exercises
Evaluate.
3 L2 7 132 |3 2| 36316 -9 ‘Ta| 3 2
15 D 2 3 -7 5
-3 5. ,1.3 27| 6 |24 16 7. |-7 =7 8. 18 -1
42 08| <5%009 1.8 Q@ 3 3 “.|8 -1
Solve, using Cramer’s Rule.
9. 3x -4y =6 10. 5x + 8y =1 11. 2x — 2y = 2
5x + 9y =10 o Ix+7y=35 6x — Sy =1
12, 5x — 6y =8 13. 4x — 4y = 4 14, —2x + 4y =3
2x - Sy= -2 7x + 2y =1 Ix -7y=1
Evaluate.
15.]10 2 0 16. |13 0 -2 17. |[-1 -2 -3
e |3 -1 1 i 5 1 2 =3 3 4 2
1 -2 2 2 0 -1 0 1 2

4-7 Determinants and Cramer’s Rule 191



518. |1 2 2 M9, | 3 2 2 20. |2 -1 1
210 -2 1 4 1 2 -1
3 31 4 -3 3 3 4 -3
Solve, using Cramer’s Rule.
21, 2x — 3y + 5z = 27 2. x —y+ 2z = -3
x+2y—z= -4 x+2y+3z=4
Sx —y + 4z =27 2x+y+z=-3
23.r-2s+3t=6 2. a—-3c=6
2r—s—t= -3 b+ 2c=2
r+s+t=26 7a — 3b — 5¢ = 14
25,3 x+ 2y -~z =4 26. 3x —y+ 22 =1
3x—-2y+2z=135 x—y+2z=23
4 - S5y —z= —1 -2x+3y+z2=1
Extension
Evaluate. ’,’.9"* iy 4332 t
ol 27.0x 4 28. |y? —2' 29. |z —3‘
x x? y 3 z? 1
Solve for x.
30. |4 2| _ 31. | x S| _ 32. |x+3 4| _ _
P o TF 2ot|-a x| T ilx-3 s T 7

33. Solve, using Cramer’s Rule.
Vix + my = -5
mx — 3y =4

Rewrite each expression using determinants. Answers may vary.
34, 2L + 2W 35. 4% + b?

Chalienge

36. Evaluate. 37. Verify.

1 x y 1 x «?
1 x y 1y Y l=@x-y(-2)&-x)
111 1 z 22

38. Use the addition method to prove Cramer’s Rule for a system
of two equations. That is, verify that the solution of the system:

ax + by = cisgivcnbyx=::—:3£and)’=%,
dx + ey =f
when ae — db # 0.

192 CHAPTER 4 SYSTEMS OF EQUATIONS AND INEQUALITIES
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